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Answer ALL Questions

1. Identify and revise the weaknesses of multiple-choice items and essay items based on

exa

a.

d.

e.

ANSWER:

mples in the reference book. Apply the steps as follows:

Refer to the reference books (for secondary school subjects only). No limit for
the number of subjects referred.

Identify TWO (2) examples of multiple-choice items and THREE (3) examples of
essay items that have different weaknesses.

State the source of reference book (book title, year and publisher) for EACH
example identified.

Explain the weaknesses of both formats.

Revise the items.

Multiple-choice items

1. The information below describes the material P.

The particles of substance P are
hard to compress

What is P?

A

B.

C.

D.

Nitrogen
Cooking oil
Oxygen

Carbon dioxide

Reference:( Kertas Model Pra-PT3 Formula A+ Tingkatan 1 Science, 2020, SASBADI

Sdn.Bhd)

Weakness: This question contains obvious answer choices because answer option ‘A’, ‘C’

and ‘D’ show the same type of substances which are three of the options are substances

type of gas. The only one option ‘B’ describe the substance is type of liquid. So, the

students

options.

obviously will choose the answer ‘B’ because it is totally different from three other




Revised version:

1. The information below describes the material P.

The particles of substance P are

hard to compress

Which is the most suitable to represent the substance P?
A. Mirror
B. Cooking oil

C. Oxygen

2. Which statement is true about the particles in gas?
A. The particles move randomly
B. The particles are arranged very close
C. The particles vibrate at a fixed position
D. The particles cannot collide with one another

Reference:(Eksplorasi PT3 Sains, 2020,Cemerlang Publications Sdn. Bhd. )

Weakness: This question contains the answer choices are redundant and similar which are
the option answer for ‘B’ and ‘D’ are explaining the same things which is explaining about

the particles are arranged orderly. In the other word, it is call as overlapping alternatives.

Revised version:

2. Which statement is true about the particles in gas?
A. The particles move randomly
B. The particles are arranged very close
C. The particles vibrate at a fixed position

D. The particles are hard to compress

Essay items

1. What is the advantages and disadvantages of the cloning technique to mankind.




Reference:(SUCCESS Biology SPM, 2010, Oxford Fajar Sdn. Bhd)
Weakness: The word ‘what’ in this question does not suitable for the essay question and it
is generally lead to the task that require recall information and the question does not require

complex thinking and reasoning.

Revised version:

1. Describe the advantages and disadvantages of the cloning technique to mankind.

2. The Internet is a useful tool. Yet, it can also be dangerous if misunderstood or used
unwisely. Do you agree with this?
Reference: (131 Mode Compositions & Summaries, 2012, limu Bakti)
Weakness: This question is too direct and short in length for the students. The question
should be more specific and clear. Short question can lead to students giving simple
responses. The word such as justify, describe, give reasons should be used. In this way,

the students can develop their ideas in essay writing.

Revised version:

2. The Internet is a useful tool. Yet it can also be dangerous if misunderstood or used
unwisely. In your opinion, do you agree with this statement? Give reasons to

support your answer.

3. Farmers add chemical fertilisers and spray insecticides on their crops. Discuss the
good and bad effects of both activities and their impact on agriculture and the
environment.

Reference: (SUCCESS Biology SPM, 2010, Oxford Fajar Sdn. Bhd)

Weakness: The question contains a lot of information in one sentence and sometimes it




will makes the student confuse with the question.

Revised version:

3. Farmers add chemical fertilisers and spray insecticides on their crops. Discuss the
good and bad effects of both activities. Thus, explain their impact on agriculture and

the environment.




2. a. For a topic of your choice, discuss the steps that a teacher needs to follow by
implementing school based assessment.
ANSWER:

School based assessment is an assessment which is designed, constructed, managed,
marked, recorded and reported by teachers. It is conducted by the students’ own teacher
and allows the teacher to give immediate and constructive feedback to students.

The topic of my choice is Science form 1 chapter 1 topic about physical quantities and
their units. So, for implementing the school based assessment, the first step is planning,
the teacher needs to know the purpose of assessment that want to implement which is
either in the formative, diagnostic or summative form. Then, teacher needs to determine
the learning outcome to be assessed and know the assessment methods that need to use.
For example, the learning outcome of the topic is to make sure the students are able to
identify and use the correct units for different physical quantities. So, the teacher
implement the assessment based on the learning outcome.

Second steps is determining the instrument. The teacher needs to prepare the table of
specification and develop or adapt the task or questions that align with learning objective
that teacher stated in the first step of planning. The table of specification helps to ensure
that there is a match between what is taught and what is tested.

Next step is implementing. The teacher needs to administer the assessment based on
the procedures and directions professionally. The assessment should be fair to all students
according to the appropriate level.

The forth step is analyzing. In this step, teacher grade the response based on the
scoring prepared. After that, the students’ result was interpret.

The fifth step in implementing school based assessment is recording. In this step,
teacher assess the development, ability, progression, achievement of the students and
record it whether in the student’s achievement record book, performance record, profile
record, teacher record book or notebook.

Next is reporting which is the presentation of assessment information about
achievement and learning development, strengths and weaknesses, performance
academic, attitude, and interest of the students.

The last step is follow-up. In this step, the teacher needs to alert with the students
achievement. If the students unable to master the content, remediation is needed but if the
student able to master the content, reinforcement training or enrichment will give to the
students.

b. Create the rawscore data for a monthly test that involved 40 students, then:
i. Calculate the PR (percentile rank) for each raw score. Show your

solutions on a table.



ANSWER:

Raw Score Frequency Percentile Rank (PR)
(B + %E)
PR =——=—Xx100

%0 3 37 +%(3)

0 X 100 = 96.25
85 5 3242 (5)

20 X 100 = 86.25
80 5 27+ 5(5)

a0 x 100 = 73.75
76 4 23 +%(4)

0 x 100 = 62.50
70 5 18+ 1 (5)

20 x 100 = 51.25
67 3 15 +%(3)

0 X 100 = 41.25
65 5 10 +%(5)

0 X 100 = 31.25
55 2 8+2(2)

a0 x 100 = 22.50
49 5 3 +%(5

20 X 100 = 13.75
40 3 0 +%(3)

20 x 100 = 3.75
Y. f =40

ii. Interpret the PR values.
ANSWER:
Percentile rank is the percentage of score below the given score point.

Raw score 90: Students who obtained raw score 90 is at the percentile
rank 96.25. That's mean there are 96.25% of the students who sit the same
monthly test obtain score of less than 90. Therefore, if the student get the
raw score 90, so the student’s position relative of his/her classmate in the
test is higher among them.

Raw score 85: Students who obtained raw score 85 is at the percentile
rank 86.25. That's mean there are 86.25% of the students who sit the same
monthly test obtain score of lower than 85.

Raw score 80: Students who obtained raw score 80 is at the percentile
rank 73.75. That's mean there are 73.75% of the students who sit the same



monthly test obtain score of less than 80. This meant, 26.25% of students
scores higher than 80.

Raw score 76: Students who obtained raw score 76 is at the percentile
rank 62.50. That's mean there are 62.50% of the students who sit the same
monthly test obtain score of less than 76.

Raw score 70: Students who obtained raw score 70 is at the percentile
rank 51.25. That’s mean there are 51.25% of the students who sit the same
monthly test obtain score of less than 70.

Raw score 67: Students who obtained raw score 67 is at the percentile
rank 41.25. That’'s mean there are 41.25% of the students who sit the same
monthly test obtain score of less than 67. In other word, 58.75% of
students scores higher than 67.

Raw score 65: Students who obtained raw score 65 is at the percentile
rank 31.25. That’s mean there are 31.25% of the students who sit the same
monthly test obtain score of less than 65.

Raw score 55: Students who obtained raw score 55 is at the percentile
rank 22.50. That's mean there are 22.50% of the students who sit the same
monthly test obtain score of less than 55.

Raw score 49: Students who obtained raw score 49 is at the percentile
rank 13.75. That's mean there are 13.75% of the students who sit the same
monthly test obtain score of less than 49.

Raw score 40: Students who obtained raw score 40 is at the percentile
rank 3.75. That's mean there are 3.75% of the students who sit the same
monthly test obtain score of less than 40. This meant, there are 96.25% of
students obtain score higher than 40.



3. Table 1 shows score data for 50 students

in a mixed-format 18-item

mathematics test. Item 1-13 are in multiple choice form. ltem 14 and ltem 16

are 2-marks partial credit items, Item 15 and 17 are 3 -marks partial credit items

while Item 18 is a 1-mark partial credit item.

Calculate difficulty and discrimination indices for each item . indicate the

solution for each index.
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ANSWER:

Difficulty index, p

No of Difficulty index Difficulty index (Partial credits)
student Item Earn marks Full marks Difficulty
answered index, p
correctly 14(2m) | 75 50x2=100 | 75 _ 0.75
18080 -
15(3m) | 88 50 x 3 =150
—— =0.59
16540
16(2m) | 64 50x 2 =100 _
%88 = 0.64
17(3m) | 108 50 x 3 =150 o= 0.72
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Discrimination index, D

The number of students are less than 60, so 50% of upper and lower group are selected.

25 students each upper and lower

50 X 50%
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n Index,
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D
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Table 2 shows a set of score data for 42 students in a 18 multiple

3.

choice item test.

Compute the split half and the KR21 reliability coefficients. Provide stepsin

performing your computation. You can use excel spreadsheet to

facilitate the task.

Table 2: Score Data
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ANSWER:

Split-half
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